xFl THE-{kBL8/13~8/15&K
OH *HBE-{KBEHK
O LHE-{AHEER

LEAN
e SE Bl AR S
Shiobe

XE1 TEE-{AA&L7/20~8/25&K

Al 12/1~3/31DORFEMEED LD

(R RFERG E) ¢ pagii)
RMBEE-1TE% HiBEFZ RIES 1T BBEFZ

06 A T BR X 6:41 02 |(Fi%) IL=EER 6:42
02 {RELETE XFr 7:07 02 |(F%) IL=1ER x 7:04
06 A T BR pd 7:24 02 |(F1%) IL=EER 7:17
02 {RELETE XFr X 7:29 02 [(F1%) IL=1ER x 7:37
08 A T BR @) 7:35 03 Sl 7:37
58 |(BEFD) LB K2t B TR PR 7:38 02 [(F1%) ILEEER 7:57
03 |(ZEfiTER) BER-BEEEM| x 7:42 06 BEEER 8:07
02 {RELETE X 7:43 08 | (B E) FEIEER O 8:17
08 A T BR 8:00 08 |(B45) JEIFER 8:37
02 {RELETE X X 8:03 02 [(Fi7) IL=1ER 8:47
03 |(ZEAfTER) BER-BEEEM 8:12 58 |(—®&) B MM 9:03
02 REETE T 8:23 01 |CHE) IIEEER x 9:12
03 |(ZEfiTER) BER-BEEEMR 8:47 04 |(5Y=-v) FlgE E A 9:22
08 T ER @) 9:20 04 |(9)=) FlgiE A 9:52
58 |(EBFD) LB K2 Y B SR P 9:30 08 ((B5) JEIFER O 10:02
01 {RELETE XFr X 9:38 02 [(Fi%) IL=1ER 10:07
06 A T BR o 9:55 04 |(9)=2) FlgeE A 10:32
08 T ER 10:35 04 |(9)=) FlgiE A 11:07
58 |(HBFD) LB K2 Y B SRR 10:50 01 |CHE) II=EER 11:12
04 |(SEAiTEE) BEIR-BEEXA 10:57 58 BB 11:19
06 A i BR ® 11:12 08 [(B5) JEIFER 11:27
01 {RELETE X 11:38 06 BEEXM ® 11:37
02 {REETE XFT X 12:13 02 |(Fi%) II=EER X 11:47
04 |(ZEffTER) BEIR-BSEEM 12:23 04 |(9)=) FlgiE A 11:52
58 |(HBFD) ILRKRZMERIE | % 12:30 02 |(Fi%) II=EER 12:37
01 {RELETE X 12:39 58 |(—®&) S 12:59
08 A T BR O 12:50 04 |(5)=2) FlgeE A 13:27
02 {RELETE X 13:03 02 |(F%) IL=1ER 13:45
04 |(ZEfMTER) BER-BEEEMR 13:13 08 |(5) JEIFER O 13:57
06 T ER 13:55 58 HEH i ¥  14:02
04 |(ZEfMTER) BER-BEEEMR 14:13 04 |(5Y=-v) FilgE E A 14:52
58 |(REFD) LB K2 Ft B TR P 14:30 o1 |CH&) I=1ER 14:57
08 B i BR 14:45 08 |(5) JEIFER 15:17
04 | (EffiER) BEIR-BEEXA 15:13 02 |(F1%) IIEER x  15:27
01 {RELETE X 15:23 06 BEEXM 15:37
02 REETE T X  15:53 01 |CHE) IIEEER 15:57




08 A T BR O 16:05 58 HEMith 16:09
58 |(REFD) LB K2 Mt B TR PR 16:15 04 |(5)=) FlgiE 16:27
01 {RELETE KT 16:23 08 |(E45) JEIFER 16:52
04 |(ZEffTER) BER-BSEEM 16:33 01 |CHE&) I=1ER 17:27
04 |(ZEAiTER) BIR-BEEXFR 17:03 58 B = M 1744
01 REETE T 17:24( | o1 [(BB) W= EER 17:57
08 B T BR 17:35 08 |(5) JEIFER 18:17
01 REETE T 17:53 01 |CHE) W= EER 18:37
04 |(ZEfTER) BER-BEEEMR 18:13 03 SN 18:42
01 {RELETE XFr x  18:23 08 FEIEER 19:07
08 A T BR O 18:85 o1 |CH&) IL=REER 19:22
01 {RELETE XFr 19:03 03 Sk 19:46
01 {RELETE KT 19:47 o1 [CRR) IL=EER 20:23
06 T ER X  20:24 06 BEEXM 20:46
01 {RELETE KT 20:48 06 BEEXM 21:46
06 T ER X 21:24




